
  

 

 

P/N:  PMKG-PREMIUM 
PREMIUM POLE MOUNTING ADJUSTABLE  
CLAMP KIT 
Installation Instructions: 
 

The kit consists of the following components
 

Item A)  Strut Rails – QTY (2) 
Item B)  Fender Washer, 1/4” – QTY (8) 
Item C)  Pan Head Screws,1/4-20 X 1/2” Long – QTY (8) 
Item D)  Nylok Nut, 1/4-20 – QTY (4) 
Item E)  Band Clamp Bracket - QTY (2) 

 
 
 
 

Item F)  Hose Clamp – QTY (2)

 

1) Attach Band Clamp Brackets (E) (x2) to inside of Strut Rails (A) (x2) and secure with Pan Head 
Screws x ½” Long (D), Fender Washers (C), & Nylok Nuts (E) (x4). Torque to 32 in-lbs Max. 

2) Attach Strut Rails to the Enclosure mounting bosses and secure with Pan Head Screws x ½” Long 
(D), and Fender Washers (C) (x4). Torque to 32 in-lbs Max. 

3) Feed Hose Clamp (F) (x2) through slots in Band Clamp (E) (x2), typical. 
4) Wrap Hose Clamps around Pole and tighten. 

Integra Enclosures, Inc.  
7750 Tyler Blvd / Mentor, OH 44060 / Voice 440-269-8155 / Fax 440-269-4977/www.integraenclosures.com (INST-PREM-PMKG_Rev_A) 

 

 

 

P/N:  PMKG-PREMIUM 
PREMIUM POLE MOUNTING ADJUSTABLE 
CLAMP KIT 
Installation Instructions: 
 

The kit consists of the following components
 

Item A)  Strut Rails – QTY (2) 
Item B)  Fender Washer, 1/4” – QTY (8) 
Item C)  Pan Head Screws,1/4-20 X 1/2” Long – QTY (8) 
Item D)  Nylok Nut, 1/4-20 – QTY (4) 
Item E)  Band Clamp Bracket - QTY (2) 

 
 
 
 

Item F)  Hose Clamp – QTY (2)

 

1) Attach Band Clamp Brackets (E) (x2) to inside of Strut Rails (A) (x2) and secure with Pan Head 
Screws x ½” Long (D), Fender Washers (C), & Nylok Nuts (E) (x4). Torque to 32 in-lbs Max. 

2) Attach Strut Rails to the Enclosure mounting bosses and secure with Pan Head Screws x ½” Long 
(D), and Fender Washers (C) (x4). Torque to 32 in-lbs Max. 

3) Feed Hose Clamp (F) (x2) through slots in Band Clamp (E) (x2), typical. 
4) Wrap Hose Clamps around Pole and tighten. 

Integra Enclosures, Inc.  
7750 Tyler Blvd / Mentor, OH 44060 / Voice 440-269-8155 / Fax 440-269-4977/www.integraenclosures.com (INST-PREM-PMKG_Rev_A) 
   

A 

B 

C 

F 

D 

E 

C 

B 

A 

B 

C 

F 

D 

E 

C 

B 

http://www.integraenclosures.com/
http://www.integraenclosures.com/

